Topic 22

Analysis of Two Treatments—II 

.  

	Activity 22-1:  Constructing an ANOVA Table


Use the results from Topic 21 to summarize the analysis done there using an Analysis of Variance table.

	Source of

Variation
	d.f.
	Sum of

Squares
	Mean

Square
	F
	p

	Educaton
	2
	39.3
	19.65
	6.917


	.001< p < .01


	Religion
	2
	35.46
	17.73
	6.241


	.001 < p < .01

	Interaction
	4
	18.233
	4.558
	1.604


	p > .01

	Error
	351


	997.29
	2.841
	
	

	Total


	359
	1090.283
	
	
	


	Activity 22-2:  Analyzing a Two Factor Experiment using SPSS


a) Open the SPSS data file REL_EDUC.SAV.  Have SPSS conduct the analysis of the main effects of education and religion along with the interaction effect on mean household size.  Your results should look something like the following.

Univariate Analysis of Variance
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a. 


b) Compare the entries in this ANOVA table with the one you constructed in Activity 22-1. Briefly summarize your conclusions.

The results agree to within rounding error.
There is strong evidence that there is a difference in mean household size due to both religion and education.  There is no evidence of an interaction between education and religion.

	Activity 22-3:  Problem Solving


a) Open the SPSS data file PROBLEM.SAV XE "PROBLEM.MTW" .  

b) Have SPSS perform the Analysis of Variance for this experiment.  Transcribe your ANOVA table in the space below and summarize what you conclude from the analysis.
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There is strong evidence of a difference in mean number correct due to whether or not the problem was feature positive.  There is moderate evidence of a difference in mean number correct due to gender.  There is no evidence of an interaction between gender and rule.
	Activity 22-4:  Household Size versus Education and Race


Open the SPSS data file RACE_EDUC.SAV XE "RACE_EDUC.MTW" .  This data file gives the household size, educational level of the respondent and the race of the respondent.  Conduct a Two Way Analysis of Variance on the data and indicate what you conclude.  If there is an interaction indicated then test the main effects separately.  Summarize your findings below.
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a. 


There is very strong evidence of an interaction between race and education.  Because of this the fact that the two main effects tests give strong evidence of difference in mean household size must be discounted.
